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Phép trir (s6 2)

Ho va Tén:

Giai cac cau hoi.
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Phép trir (s6 2) Ho va Tén: LOi gidi
Giai cac cau hoi.
11-2= 9 3-2= 1 8§-2= 6 7-2= 5
9-2= 7 12-2=10 4-2= 2 5-2= 3
10-2= 8 6-2= 4 6-2= 4 3-2=1
11-2= 9 12-2=10 10-2= 8 5-2= 3
9-2= 7 4-2= 2 7-2= 5 8§-2= 6
12-2=10 11-2= 9 10-2= 8 3-2= 1
5-2= 3 9-2= 7 §-2= 6 4-2= 2
6-2= 4 7-2= 5 9-2= 7 6-2= 4
4-2= 2 3-2= 1 12-2=10 7-2= 5
5-2= 3 8§8-2= 6 11-2= 9 10-2= 8
10-2= 8 9-2= 7 11-2= 9 7-2= 5
6-2= 4 12-2=10 8§-2= 6 3-2= 1
5-2= 3 4-2= 2 11-2= 9 9-2= 7
7-2= 5 5-2= 3 10-2= 8 3-2= 1
12-2=10 4-2= 2 6-2= 4 8§-2= 6
6-2= 4 8§-2= 6 11-2= 9 3-2= 1
5-2= 3 10-2= 38 12-2=10 7-2= 5
9-2= 7 4-2= 2 5-2= 3 11-2= 9
8§-2= 6 10-2= 8 9-2= 7 4-2= 2
3-2= 1 12-2=10 7-2= 5 6-2= 4
5-2= 3 8§8-2= 6 6-2= 4 11-2= 9
12-2=10 4-2= 2 10-2= 8 3-2= 1
9-2= 7 7-2= 5 4-2= 2 12-2=10
3-2= 1 11-2= 9 5-2= 3 9-2= 7
7-2= 5 6-2= 4 8§-2= 6 10-2= 8
[ Toin Hoe .. commonconeshectscon 1630 RN 75 75 77 75 | - [ AR




	Bảng tính
	Lời giải

